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{General)
Full Marks : 90
Time : 3 Hours

The figures in the right-hand margin indicate full marks.

Candidates are required to give their answers in their
own words as far as practicable.

Nlustrate the answers wherever necessary.

Group—A
1. Answer any ten of the following : 2x10
(a) Name two purine and two pyrimidine bases.
(b) What is écotype ?
{c) What is synaptonemal complex ?

(d) Define DPD.
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(e} What is cambium ring ? Write its function.
(f) What is lenticel ? Give it’s function.
{g) Define nucleosome.
(h) What is ETS?
(i) Name one gaseous phyto-hormone and it’s role in
plant. '
() What is Allopalyploidy ?
(k) What is antitranspirant? Give example.
({) What is Hill reaction ?
(m} What is bast fibre ?
(n) What is cell plate and phragmoplast ?
(o) What is Leg-haemoglobin ?
Group—B
2. Answer any five of the foliowing : 8x5
{a) What is ethnobotany ? Mention six common ethno-
medicinal plants and their uses. 2+6
(b) Describe with sketches gros-structure of cell-wall.
What is the function of cell wall? : 6+2
(¢c) Write the adaptation of hydrophyte in respects of

morphological, anatomical and physiological

characters. 8
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(d) What is genetic code ? Discuss in detail the properties
of genetic code. - 246

(¢) What is photoperiodism ? Give definition and exanﬁples
of Long day, Short day, Long-short day and Short-
long day plants. 2+2+2+2

(f) Write notes on the following : 4+4
(i) Physiological role of cytokinin ;
(ii) Different types of stomata of dicotyledonous

plant.

(g) Discuss in brief the different properties of enzymes.
What are the factors which affect the enzyme
activity ? 5+3

(h) What is secondary growth ? Describe with sketches
normal secondary growth found in dicot-stem. 2+6

Group—C -
3. Answer any two of the following : 15x2

(a) Draw and describe the symbiotic nitrogen fixation.
Define Ammonification and denitrification and
mention organisms involved. Mention the enzymes
involved. T+(2+1+2+1)+2

(b) What do you understand by ‘Ascent of sap’ ? Critically
~ discuss various theories that have been put forwarded
to explain the mechanism of ascent of sap. Write in

brief the mechanism of ion absorption by plants.
2+8+5
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(c) Schematically represent glycolysis process. How many
ATP are obtained from this process? Write the

significance of glycolysis in respiration. Write two
each of C;, C; and CAM plants. 8+2+2+3

(d) What is aneuploidy ? Mention and discuss different
types of aneuploidy in plants. How does it differ from
euploidy ? 2+10+3

{e) Distinguish between the following pairs : 3x5
(i} Phenotype and genotype ;
(ii} Mitosis and meiosis ;
(iii) Deletion and duplication ;
{iv] Monohybrid and dihybrid cross ;

(v} Initiating codon and termenting codon.
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